NISE Solution FIITJEE

(MAT Solution)

(4)

Odd one out is k—1333 as B - 2°,

®3)

Mercury is odd one out as itis in liquid form
)

KOSW is odd one out, as in other three options a pattern is followed i.e. two letters are added in the letter to
get next letter, botin KSOW this pattern is not followed

D >G >J >M

E,F H,l K,L

(@)

In figure (2), two adjacent triangles are not filled, but in remaining figures 2 adjacent triangles are filled, so
Fig (2) is odd one out

3)

In figure (3) total no. of lines are 4 botin other three figures there are 3 lines to form the figure so fig (3) is odd
one out.

3
Figure 3 is odd one out
2

In figure (2) the figure is not divided into two equal parts but in other figures the figures is divided into two equal
parts.

3)

Parliament is the head in Britain & congress isin United States of America
1)

6:222::8:7?

6°+6=222

8®+8=520

(4)

C E J P F K R U
24 41d+24 d+1 24 11d+20 +1d
F g Ms Iy U W

{

Similarly

1)

Figure (1) will follow the sequence

(2)

Figure (2) will follow the sequence

(4)

Figure (4) will follow the sequence

)

Figure (1) will follow the sequence

3)
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)

It is compound series of two different series
6, 12, 20, 30, ? & 2,6, 12, 20, ?
so answers willbe 42 & 30

®3)

Itis a compound series of two different series

10, 17, 26, 34, 51, 6, 8, 85

VAV

17 17

series will be

5, 34, 10, 51, 17, 68, 26, 85, 37

(1)

Figure (1) will follow the given sequence as

e is showing anti clock wise movement

A is showing anti clock wise movement

Arrow is showing clockwise movement
Based on above information figure (1) follows the sequence .
19. (4
Sol. Figure (4) will follow the given sequence
20. (2
Sol. Figure (2) will follow the given sequence
2. (1)
Sol. Figure (1) will follow the given sequence
22 -28
From the above in formation codes of the letter are
-5
-6
-4
-3
-2
-7
-1
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vV -9

®3)

Code of OPR is 654
1)

Code of SLV is 719
(4)

Code of EJL is 321
)

Code of RES is 437

3)

Y

Similarly

R

Similarly

\Y,
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B

Similarly

G E

2

From the option

M

4)

From the option

N T P _C |
3

From the options
TLMC I LM
1)

K B

B M C

Q) ~+=

Form options, 24 +6+2=06 [ BODMAS RULE]

4+2 =6
LHS = RHS

[ BODMAS]

[ BODMAS]
6 =6
B) x + =
6 x4 +5 =29
24 +5=29 [ BODMAS]
29 =29
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17 - 7 + 3 = 13

17 - 4 = 13 [BODMAS]
13 =13

(4)

3 3 5
5 4 5 6 8 3

In all figures 5 is common. eliminating 5 & product of other two no 5 is middle one.
4x3=12
6x3=19

= 8x3=24

3)

4 6 9
3 9 5 7 5 6

Adding all digits on corners & subtracting 5 from all we get middle value.
9+4+3=16-5=11
7+5+6=18-5=13
9+6+5=20-5=15

(@)

Adding all digits on corners & substracting 9 from all we get middle value.

7+7+3=17-9=8
4+3+6=13-9=4
6+8+5=19-9=10
4)

All three subjects are different from each other

( —Hist
oo O—Psychology
( }—Physics

(4)
Ranchi is in Jharkhand, But Nagpur does not belong to any of both.

Jharkhand
O—Nagpur
Ranchi

45 - 47 Table
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MONDAY
TUESDAY
WEDNESDAY
THURSDAY
FRIDAY
SATURDAY
SUNDAY

From the given table.
)

Wednesday

)

Four

)

Seeta — Reeta

1

7 rank from top & 26™ from bottom means.
7 +26 -1 =32

2

T (father) T =Tarun
l R = Rohit
K = Kala

brother D = Dilip

Hence from diagram Relation is Brother in Law

®3)

End point

3Km

Starting Point

Hence person is facing North.

(English - Solution)

)
Refer to line 1 (Para. 2) ‘After
®3)

Refer to line 3 ‘when he was ..across.

(1)
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Ref. to line 2 and 3, ‘he tried ahead of him’
2

Refer to line 4 (Para. 2) ‘ice

4)

Refer to last line (Para. 2) Then at last

1)

Refer to line 1 (Para. 1) ‘Every reader

1)

Refer to line 3 to 5 (Para. 1) ‘seeing is active. Once progress
3

Refer to line 1 and last (Para. 2)

(4)

Refer to line 4 and 5 (Para. 5)

(4)

logical inference makes (4) the correct option
3

Option (3) is logically correct

1)

Option (1) is logically correct

4)

Option (4) is correct according to the logical sequence
3)

The paragraph talks about Nigel's mother

P — tells about his father & mother’s death

Q - refers to him mother-

2)

Fits is the best

2

Preposition ‘by’ after the blank and logic suggests (2) as the correct option.
1)

Fits is the best

2)

Fits in the best

(4)

Fits in the best

3

Fits in the best

2

Fits in the best

3

Fits in the best

3)

Option (2) is the most appropriate choice

(4)
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Fits in the best

1)

Fits in the best

3

Fits in the best

1)

Fits in the best

2

Fits in the best

(4)

Fits in the best

1)

Fits in the best

1)

fits in the best however, option 1 is mis printed. ‘correct — lift
2

Fits in the best

3

Fits in the best

2

means to search which is the best option.

looked out - to be careful / watchful

looked for — means to search which is the best option
looked up — to search for and find / to visit / to become better
looked into — to inquire

(4)

Fits in the best

1)

‘think over’ - to ponder or consider

2

broken down - failed to function / ceased to be useful.
(2)

Option (2) is the most suitable

1)

Showing quiet and gentle nature, Therefore option (1) is correct

(4)

Option (2) is the most suitable

FIITIEE Ltd., B — 4, Sec — 16, Noida (U.P), 201301, Ph : 0120 - 3105005, 4754800, Fax : 0120 - 4271214




